
x2
IMPORTANT!
Do not tighten screws during assembly.
All screws must be tightened up only at the end of assembly.

TORX 13mm

Brafab

1 2

3 4 5
x1 x2

x4 x2

Assembly instruction

RESMO Children Picnic Table - Art nr 9304

2 60min
200200

100

A 5x40 T x12
B M8x50 x12
C M8 x12
D M8 x12

 1 / 3



33

4

4

44

1

4

4

44

B
B

C D

B

D
C

13mm

13mm

1

2

DC

B M8x50 x8
C M8 x8
D M8 x8

B M8x50 x4
C M8 x4
D M8 x4

 2 / 3



TORX

TORX

1

3

3

5

5

51

A

I

 X  X 

15

2
2

3

A A

2

3

3

4

A 5x40 T x8

A 5x40 T x4

 3 / 3


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View15
	Drawing View16
	Detail View A (1 : 1.3)
	Detail View B (1 : 1)
	Drawing View67
	Drawing View68
	Drawing View70
	Drawing View71

	Sheet3
	Drawing View35
	Drawing View36
	Detail View C (1 : 4)
	Drawing View38
	Drawing View40
	Detail View D (1 : 3.5)
	Detail View E (1 : 2.5)
	Detail View F (1 : 2.2)
	Drawing View57
	Drawing View64
	Drawing View65
	Drawing View66
	Drawing View72
	Drawing View73
	Drawing View74
	Drawing View75
	Detail View B (1 : 1)
	Drawing View77
	Detail View B (1 : 1)

	Sheet4
	Drawing View49
	Detail View A (1 : 1.5)
	Drawing View51
	Detail View A (1 : 1.8)
	Drawing View56
	Detail View H (1 : 3.5)
	Drawing View60
	Detail View I (1 : 13)
	Drawing View62
	Detail View J (1 : 3.5)
	Drawing View79
	Drawing View81
	Drawing View82
	Drawing View83


